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Problem quickname: 6571

Worksheet

)

Calculate the result for each of the matrix cells.

Ay Tsr [ 5 [ 17 ] P & [ 38 ] 26 | 2
43 28
60 21
29 27

O + T2l 1wa] 9 + T s [ 6
27 24
21 8
24 18

2)

Calculate the result for each of the matrix cells.

)y [ o [Tl P+ 718 9] 1
5 20
12 5

OF = [ 6 [ 35 [ 34| D[ + 28] 20 a1
42 11
46 4

3)

Calculate the result for each of the matrix cells.

a)[ . 99 | 111 | 654 | -115
226
84
843
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-207

137

566

-127

-582

-316

-204

-315

-420

-348

-701

370

4

-935

-047

-784

-632

-308

189

676

-95

Calculate the result for each of the matrix cells.

a)

+

2

o8

5

32

39

11

+

37

36

15

20

25

Good Luck!
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b)

+ 23

33

18

23

3

30

+ 70

35

44

22

10

21
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